N of reco track vs pT

[N of associated (recoToSim) tracks vs pT

N of associated (recoToSim) duplicate tracks vs pT

1%} F 9] %] F [%]
x I x X - X
Q o Q [} Q
S10°E- g £ g
) 2 o
E 2 s 8
10* £
=]
o
10°
10°
8 2 8
3 3 3
14 4 14
B
*To* 1 1I0 7 2 107 1 1I0 02 ? “lo * 1 1Io 7 2 *To* 1 1Io 7 ?
trag‘lg P, (Ge\;')0 traélg P, (Ge\}f) traé‘lg P, (Ge\;')0 tra&l? P, (Ge\}f)
= R
[Nof reco track vs o g —CRF= —reEr |n8|gE |esﬂ§ v2 h
1%} 9] %] n [%]
x x X X
Q Q [} Q
g 8 s g
] oL ]
210 = 8
S
3 10
2 8 N N N 2
g : kS : : : : : g
o . } 14 : H * 14
0. ; ; ; ; ; o ; ; ; ; ; o ; ; ; AN
= -2 -1 0 1 2 3 =3 -2 -1 0 1 2 3 =3 —2 = 0 =3 -2 -1 0 1 2 3
track n track n track n track n
N of associated (recoToSim) tracks vs phi | N of associated (recoToSim) duplicate tracks vs phi_|
9] %] [%]
S ] S
8 s g
s s s
E = 8
=
3
T
2
s
14

track ¢

-3 -2 -1 l 2 3

track ¢@




	Contents
	Page 1


